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Applying Unit Rates

	 1.	 On the first day of a bike trip, Kylee biked 54 miles in 4  hours. If she moves at the  
		  same speed on day two, how far will she go in 6 hours?

	 2.	 Kensley and Zahir completely filled 3 buckets with 2,550 acorns total. If bucket capacity  
		  is constant, how many acorns will fit in 5 buckets?

	 3.	 Jonathan’s Wi-Fi can typically download 8,400 megabits in 30 seconds. How much can  
		  it typically download in 18 seconds?

	 4.	 Six conference rooms hold a combined maximum of 96 people. If all the rooms have  
		  the same capacity, how many people can 2 rooms hold?

	 5.	 Mr. Evans bought 5 pounds of apples for $10.25. Assuming price is constant per pound,  
		  what is the price of 3 pounds of apples?

	 6.	 Mario gifted 8 identical boxes containing a total of 192 chocolates. How many  
		  chocolates were in 7 boxes?

answer: ____________________________________

answer: ____________________________________

answer: ____________________________________

answer: ____________________________________

answer: ____________________________________

answer: ____________________________________

Basic

Find the unit rate to answer the question. Label your answers.
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ANSWER KEY

72 miles

5,040 megabits

$6.15

4,250 acorns

32 people

168 chocolates

54 ÷ 4  = 12

12 × 6 = 72

8,400 ÷ 30 = 280

280 × 18 = 5,040

10.25 ÷ 5 = 2.05

2.05 × 3 = 6.15

2,550 ÷ 3 = 850

850 × 5 = 4,250

96 ÷ 6 = 16

16 × 2 = 32

192 ÷ 8 = 24

24 × 7 = 168


